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P(1)=1/6 ,P(2)=1/6,P(3)=1/6 ,P(4)=1/6, P(5)= 1/6,P(6)+ 1/6

P(1)=17% ,P(2)=17%,P(3)= 17% ,P(4)= 17%, P(5)= 17%
,P(6)=17%
b LS gl JS 585 st e Jaals 05555
(1/6+1/6+1/6+1/6+1/6+1/6)=6/6=1
Or (17%+17%+17%+17%+17%+17%)=100%=1
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P(A U B)=P(A)+P(B)-P(A N B)
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S={(1,1),(1,2),....(1,6),(2,1),(2,2),...(2,6),(3,1),...(3,6),(4,1),...(4,
6),(5,1),...(5,6),(6,1)...,(6,6)}

O5Siw 4 5l 2 daqiill 0S5 o) Adldial (b 4l
Let A=2 and B=4

P(A U B)=P(A)+P(B)-P(A N B)
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P(A U B)=P(A)+P(B)-P(A N B)=6/36+636-2/36=10/36
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dagill Sianle 50 g8 2l o) B4 52 Al S8 o) Dlldial 5 1/6

P(A U B)=P(A)+P(B)-P(A N B)=1/6 + 1/6 -0=2/6
Mutually Exclusive &) sall e g il 138 o
Non - Mutually Exclusive &3l sa e Jlag
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OP(A)=80% , P(B)=30% , P(A N B)=25%

P(A U B)=P(A)+P(B)-P(A N B)= 80%+30%-25%=85%

sPage k-a



(Conditional probability)isa il 4dlaiay)

58 Dad (5 A alay e Bala J s (3l ke H3l) LllaiaY) Jiad
iy | el e g A sl a8 ladic B g g8y adlaial ool
P(AIB) 45Y)da kil

Bl s ile sall S 13 hall J 3 ddlaial oale lld e Jliag
2 b il llaia) Glual 4zl

P(AIB)=P(ANB)/P(B)
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il 513 eday sl ) ()5S0 o) Adlaial aled 2,46 (& 4

: Jall
Let A ={2,4,6} and B the number 3 or less then
P(AMNB)=1/6 and P(B)=1/2

Then P(A|B)=P(AMNB)/P(B)=(1/6)/(1/2)=1/3
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P(ANB)=P(AIB)*P(B)
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s B

- Jall
P(ANB)=P(AIB)*P(B)=(1/2)*(1/4)= 1/8
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P(AIB)=P(A) and  P(B|A)=P(B)
Ol VS 13 (pfinla ool dllaiad lua Ul Qs 138

P(AMNB)=P(AIB)*P(B)=P(A)*P(B)
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